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Question
For a machine to be a server, it must have the following capabilities
except

Answer
Higher physical size

Question
The central coordination of clients is handled by

Answer
server

Question
The main reason why digital computers are more popular than analogue
computers is ...

Answer
easy programming

Question
Examples of analogues computers include all except ...

Answer
Speedometer

Question
The following are the challenges posed by the regular usage of the
computer except ...

Answer
public violation

Question
Processing of data include the following except

Answer
Merging

Question
Widthdrawal of specific data from its stored position is called



Answer
inquiry

Question
The following are the manipulations that are executed on data types
except

Answer
comprehension

Question
All are examples of numeric data type

Answer
0.3

Question
The manipulation of data types culminate into

Answer
information
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